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3. Summary




1. Parameter degeneracy in (S5, sin*20:s) pl’ane 2
Even £ P=POup=Ve) and P= P(ﬂqufe)
are given, there are in general

R solutions.

3 kinds of degeneracy
- intrinsic (8,6i) Burquet —Castell et al (0)
+ SIgn (Am3) Minakata- Nungkawa (‘0D

&' Qs < T~ 0023 (:09“'— Lisi PRDS54 ('96) 3667
Barger - Martatia - Whisnant(02)

‘E’h fold degener ac:}:j

Here | assume that accelerator beams
are approximately monchromatic.

E‘ngrimen'tal errors in IOﬂ_g base line
experimen‘[s are not +taken Into account




Here I visualize the R-Told degeneracy
by using the (Ssz, SIn20is) p\ah@, Step

by Step. > i:i ﬁ_zt;
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@ Oscillation Maximum (M‘:;E'L : T;f)
P=P(Vole)= X — 2y fgsin S+ 49’
P=P(l=Ve)= TF + 229 Tg sin § + 9’
where  X= S,3S20i3 :
3= €Cy;sin2, €= |ir:,,j-tz
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Z. RQSO\U.tiOY} D-F @236%‘823 d@ggﬂera(:y U2
by LBL ® reactor

Owr scenario

- JHE veyp @ Osallation Maximum
@

- reactor experiment (@ Kashiwazaki ?)

From LkoLi @IHF we will know that s satisties
either of the followings :

(A) | -sin20s| < afew <0 %
(B) | I-sin*205| > afew x 107
(A) with JHFE VU @OM

- The situation looks like the Upper
"\ [}
Sa3 'ﬁaur e

= A The Precise determination OF true

Sin“20iz 1S difficult  but the
> values of sin*20z for the 4

SN203 solutions are a pproxi mately the same.

(B)zwith JHF O D @OM

523"\ The values of SI'HEZ@B for 2 <%
(L2 sy and O > % are quite different
and it may be possible to
deter mine the true value of
—> sn208i If the error
dre (Sn*2013) pf the reactoy exp,
IS smaller than the ambiquity
&de (Sin*20)3) due to the deqeneracy.




Measurement 0T Oz by reactors
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sin“20;3 IS measured

with an experirnen’cal ervor
Sre (sin*20;3)

without any am bigu,i_ty from Q53 9

reator measurement @ Kashiwazaki-—Kariwa
with L= |7 ]cm ; 5sy5=03 %, 201:')/1"

of. Suekan- san's talk

&re (SIN®202) = 0.01'2
re | 3) Mingkate et al. hep-ph/o21111]

d-0:f =+ ( sin“20)3 onfy ! aSS.u,minS
that 1Ams| is known
Ln the wto\lnwihg Trom JHF )

discussions, this
value for Sre[s'm?‘z@ﬁ)
is used, but qualitative

Ffeatures do noC change.
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Sde (sn“20;3) = | sin*205 — sin*201s)
Sin“28:3 = Sm*20iz
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am bigu,}ty due to the degeneracy

' See (5028 )

lSEWEZQG — sin“20s |

(Siﬂlzgl‘s)average = "*(SIH 2'913"1‘ Sin Z@la)
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error In the reactor experiment
gre (sin*203)
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3. Summary

X %“{:old degener'ar_y can be visualiaed
LLSi’ﬂg the (Sz'%,S'IHZZGB) P,’ane,,

D
reactor dEcgeneraCy
£ |1-sin*202s | and sin°203

are relatively large.

-X{jl-ll: VOY @OM| —. may solve OneF-0s

cf. other ways to resolve <the degeneracy

Parke-san's {JHF VOV @ 4OM
tal
Bt NuML VoD @ OM

talk o & |
Ve =2 Vt (silver)

Signor Donini's {u factory Ve — 5; (go[den)}




